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® 2(ax - ay)

@ 4(x - 2ay)

@ 2a(x - 2ay)

® 4da(x-2y)

@Qa(x —2y)
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@2x2 +4xy+ 4y2
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@20 +dxy + 47 = 27+ doy + 47 + 7

= (x_|_2y)2 _|_x2
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D x-vy @ x+2y ® 2x+ 4y

@ 4x -3y @4x+3y

8x% — 10xy — 12y% =2 (4)52 — Hxy — 6y2)
=2 (x—2y) (4x + 3y)
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® 2 @ 24a%b
@ a-3b ® 2(a-3b)

2a3b — 6a*b* = 2a*b(a - 3b)
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@ (b-2a)* = (2a-b)?
© a?>-b?>=(a+b)(-a+b)
© (a+b)?-4ab= (a-b)?

@ 4ab-1=(2a+1)(2b-1)

® 6,0 @o. @ ® © @
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©: a®>-b*>=(a+b)(a-b)
@®: 4ab-2a+2b-1=(2a+1)(2b-1)
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®x-1 @r+1 ®x-6 @®x-5 O x+6

x> -5x—-6=(x-6)(x+1)
2x2 = 3x-5=(2x-5)(x+ 1)
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@ x+2 ® x+3 @ x+5 (@))H—?

(7hH & "Hole (x45)2-2% = (x+5-2)(x+5+2) = (x+3)(x+7)
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@ x+1 © x-1 © a+1
® x-2 @ a-1
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a?x-a’-x+1=a*(x-1)-(x-1)

=(a+1)(a-1)(x-1)




28 % (30 +a) =302 —a? = b

@® 890 @ 892 3 894 (@)896

® 898

28 x (30 + a) = 302 — a2 = (30 — a)(30 + a)
30-a=28 a=2
b =302 — a = 302 — 22 = 896




11.

%
ot
o
38
filo
£
N
)

|
>
QU

4x? = 5xy—6y? = (ax+by)(cx+dy) BE A5H
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4x? — 5xy — 6y? = (4dx + 3y)(x — 2y)
(ax + by)(cx + dy) = (4x + 3y)(x — 2y)
ac =4, bd = -6

. ac—bd=4-(-6) =10




(x+2y—2z)(x+ 2y + 4z) — 722

@© (x+2y-52)(x+2y+3z) @ (x-2y+5z)(x—2y-32)
@(x+2y+5z)(x+2y—3z) @ (x+3y+5z)(x+2y-32)

® (x+22)(x —22)(x* + 3)

B

x+2y=Az ot

(x+ 2y — 27)(x + 2y + 4z) — 722

= (A-2z7)(A+42) - 72°

= A% + 2471522 = (A - 32)(A + 52)
= (x+2y+52)(x + 2y — 32)
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D)2x—2y+3 @ 2x-2y+1 ® 2x-3y+3

@ 2x-y+3 ® x-2y+3
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4 (=2 +3)x-(y-1(r+2)
={x-@G-D}{x+0+2)}
=(x-3y+1)(x+y+2)

whebA] A2 Q14=90] R 2x — 2y + 3
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@D 41-22+3 @ 22+41V3 B 22-413
@ 223 -41 @41+22\/§
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a+2=1 2 A&
3a+2)?2-2(a+2)-8

=32 -2t-8

= (t-2)(3t+4)
=(a+2-2){3(a+2)+4} =a(3a+10)
= (V3+2)(3V3+16)

=41+223




